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6 X 7 =

6 x 0.7 = 472

5 x 8 = 40

5 x 0.8 = 4.0
6.3 x 10 = 63.0
6.3 x 100 = 630.0
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ARENN 1 IMINAAMYDY 11.4 X 1.2
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0897l 2 WNINAAMUUYBY (-1.07) X (-2.5)

A9UY  (-1.07) X (-2.5) =

h N
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fA9819l 3 INAAUVDY 20.2 X (-3.82)
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ININAANS [(-6.3) x 17.45 ] + [(-6.3) x (-16.45)]

ado o

AN [ (-6.3) x 17.45] + [ (-6.3) x (-16.45) ]

= (-6.3) x [17.45 + (-16.45) ]

= (-63) X 1
= -6.3

90 - 6.3
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1. snmanad  1.23 x (-0.014)

2. WVNAAN (-3.49) x (-0.23)

3. AWnmanad 3.15 x (-0.17)

4. WA (-1.34) x (-1.6)

5. i maAn 4.23 x 0.025
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0.3 x0.2

1.1 x0.2

5.1 x 0.7
1.7 x 2.1
1.22 x 0.21

2. 0.5x0.7

4. 2.1 x0.5

6. 6.3 x0.1
8. 2.1x2.2
10 2.24 x 3.14
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1. (-0.3)x 0.4 = eeereneeneenannns 2. (-0.6) x (0.5) =rvevrvrreenens
3. 2.4 x(-0.2) S rreeeeeeeseesssssens 4, (-2.1) x 0.5 Sreeeeeesssennanenens
5. 421 x (-0.7)  =vvrrcnnen. 6. (-6.3) x0.22 =..erereuene.
7. 1.7 x(-2.1) = 8. 9.1 x(-0.29) =i

t 9. (-2.31) x 0.25 =..ccvvvrveuenens 10 (-7.11) x 2.96 =...cccvvvvvuruene
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ALY IntineurInanauadIduIusalull

. (-0.5) x (-0.7)

. (-1.3) x (-0.2)

. (-5.4) x (-0.7)

. (-1.62) x (-2.1)

. (-1.32) x (-0.21)

2. (-0.3) x (-0.7)
4. (-2.8) x (-0.5)

6. (-6.9) x (-0.1)

8. (-2.3) x (-2.25)
10. (-2.82) x (-3.14)




